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Please check that this question paper contains 8 printed pages.

Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

Please check that this question paper contains 26 questions.
Please write down the Serial Number of the question before attempting it.

15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :

(i)  All questions are compulsory.

(ii)  Marks for questions are indicated against each question.

(iii) Question nos. 1 to 9 are very short answer questions carrying 1 mark each.

(iv) Question nos. 10 to 17 are short answer questions carrying 2 marks each. Answer
to them should not normally exceed 50 words each.

(v)  Question nos. 18 to 22 are also short answer questions carrying 3 marks each.
Answer to them should not normally exceed 70 words each.

(vi)  Question nos. 23 to 26 are long answer questions carrying § marks each. Answer to
them should not normally exceed 150 words each.

(vii) Answer should be brief and to the point.

1. TR s=d g TR VI 31ee 1X @ 9RT 80 Ht 3 3T=aid shald! ITH i aTet foheal o
. Tt o1 Seorg Hifs | 1

State any two assessees who are allowed deduction u/s 80 C for National Saving
Certificates VIII issue or IX issue.

2. h¥ TLhR Y IISHT H 39 J 910 80 H HY €l o 3A=id sheldl oh foTd bl TRl
27 1

Who is entitled to deduction in respect of contribution to pension scheme of Central
Govt. u/s 80 CCD ?

3. e fotarg s A9 o foTw weh =afth g ra <t 718 Ui oX e 80 &t o6 1= e
! TATY T Ioeh@ HIT | 1

State the period of holding under unit linked insurance plan for deduction u/s 80 C for
the amount paid by an individual.

4. YT 194 ot o A=A Aled) qAT Shigae Tsol 3ATE O Sd I Hd T L shald] <l ferd wral
1 I Temarn ST =t ? 1

What condition should be satisfied to deduct tax at source from winnings from
lotteries or crosswords puzzles etc. u/s 194 B ?
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5. 30 o STae < o fhaeht B 7 1

Who is liable to pay advance tax ?

6. A h 3r=id el 31 areft foRedl g a3 & Igretur i | 1

State any two examples of goods outside VAT.

7. e fashl e fore wm & g g 1

What is ‘Form C’ in Central Sales Tax ?

8. ¢ AR hl ST o fohea q1 fargatl 1 Ieera HIfT | 1

State any two points giving the need of introducing VAT.

9. TR ¥ fautia gfeda sy’ 1w A R ? 1

What is meant by ‘Reverse Change Mechanism’ in Service Tax ?

10. = 80 € € &t < =i TaIfehedT @ X Sl I el i oh TIQ G 31 S areft wrat
1 o HIT | 2

State the conditions which must be satisfied the claim deduction in respect of medical
treatment u/s 80 DDB.

11. foxfmad 2015-16 & forw 80 o @ 31f¥res 311 o 3fd Ity ARTHERT <t KT <aT 6l ToET
T o ToTT TRt 1 TS T Jeod HITT | 2

State the income tax slabs for financial year 2015-16 for very senior citizens aged 80
years and above on the basis of which their tax liability is computed.

12. 3R AT, 1961 % JEYMI o STTHR Th SATh bl hL AFT 3T hl TUMET i 6
o “=afer” @ <ot A ST we ot 319 i | 2
For calculation of taxable income of an individual according to the provisions of

Income Tax Act 1961, give the meaning of the terms ‘Individual’ and ‘Taxable
Income’.

13. = R T 1fesert st faffcd) i 1fim =it ram o foe g dehdt & sreran Faifd
BRI 319 3719 =1e] Y <l 319t 3T BT STTHM ST o 9T L 3T 319 37T A ST
g2 ? ST | 2

Can the assessing officer ask the assessee to pay advance tax or the tax payer has to
pay advance tax at his own after estimating his own current year income ? Explain.
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15.

16.

17.

18.
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‘FTR-T=T’ qT “37q: T Torshl o1 o7 312 8 7 39 TohR hi fershl o1 Sooig shifore o
T h 1 forshl ot 27 BT & a2 98 ft Seoi@ hifSe for T8 Fei @ BT 2 |

What is meant by ‘Interstate’ and ‘Intrastate’ sales ? State the type of sale in which
CST is payable and also the state where the CST is payable.

A § SATTTd JETarsti adT e 92 a1 L T &g I hl S aTeft 3l o1 Ieoid
HITSTT |

State any two conditions that should be fulfilled in order to charge service tax from
individual provider as well as companies in India.

[T T o =i ey s 3 g v

What is meant by ‘Abatement’ in Service Tax ?

TET L P AT USRI % AT 3713 6 fraehl Rrderd a1t & 7 39 w1 1 3oo@
sHifoe o8 gsfientor & fore s o6 gian 2 a2 et fed 38 et HET e g |

Who is liable to apply for registration under Service Tax ? State the form, which he
has to submit for registration and the period within which he has to apply for
registration.

e a9 2015-16 % fow v 3 310+t 31 6 fore feraror e fop

(i) @A™ % 3,60,000
(i)  <rerepren dofird @y % 1,20,000
(iii) Tertram T fopam % 2,500 Sfd A

Y T 35 "I Afas ffy # 35,000 1 ST feRam @@ ¥ 12,000 TEmEET
TR TEd IS 8 S feRu |
frettor a 2016-17  foTu IHeht Kt A 3171 <6t MU SHIfTT |

X submits the following particulars of his income for the previous year 2015-16 :

(i) Income from salary T 3,60,000
(i1)) Long term capital gain % 1,20,000
(ii1)) Rent received 32,500 p.m.

During the year, he paid I 5,000 in public provident fund and ¥ 12,000 to Prime
Minister National Relief Fund.

Calculate his taxable income for the assessment year 2016-17.
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20.
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qe a9 2015-16 o foTT eprer 3 37t 311 o Fre feraror s e

(i) =TIE™E T Ay % 2,60,000

(i) We S TGS A % 12,000

(iii) Teh WA Hro | gr e T 1,600

(iv) Teh ®H | STHT 9T ITH ST % 27,000 T8 R Ed W R et 10% o |

3T 1-4-2015 1 T 50,000 s T s=a 9= (Frtaa VIID) 61 sha fopam ae Sfiam sfimn
fiftrRm o T 7 5,000 1 T R |

Frerieor o 2016-17 % T 3T6H o1 bt 3T 1 TTUMT HIFT |

Prakash has given the following particulars of his income for the previous year
2015-16:

(1)  Profits of business T 2,60,000
(i1)) Capital gain on sale of a building < 12,000
(i11)) Dividend received from an Indian company I 1,600

(iv) Interest received on deposit in a firm I 27,000 from which tax deducted at
source was 10%.

He purchased National Saving Certificate (VIII issue) of I 50,000 on 1-4-2015 and
paid X 5,000 for Life Insurance Premium.

Calculate his gross total income for the assessment year 2016-17.

wHt fergl o9 feufoat o1 Seorg hifse {598 9mr 194 € o 31=id 91 9 st wedt <l
I3 ATl T8l aidl |

State any three circumstances under which there is no requirement of deduction of tax
at source u/s 194 A.

e fereront @ 32 affor T gra = 2016-17 % forw Yram fopu S et 31fim e
Tlﬁﬂaﬁmaﬁm

() A AR 3T % 4,34,000

(i)  RUTIETT R AT 9,000 (| 9 1,000 X Hldl o 9T
(iii) o9 9 TP a=d o= § fFa % 80,000

(iv) @ vesg Al afew 220,000

For the year 2016-17 compute the amount of advance tax to be paid by Raja, age 32
years from the following details :

(i) Taxable business income 3 4,34,000

(i) Interest on debentures % 9,000 (after TDS X 1,000)
(ii1) Investment in NSC during the year I 80,000

(iv) Investment in PPF 320,000
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23.
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Qa1 k1 71 3 B 7 a1 L h foregl @) faiwanati w1 Ieot@ HifSw |

What is meant by Service Tax ? State any two features of Service Tax.

T 99 2016-17 = fou “zem” <hi o1 ° f afdrfera o -

(i) SRS A™ % 5,50,000
(i) TR YSTd TREFITa & Feaf-ad gira @ % 13,000
(iil) YR SHEAfR & 9T AT % 9,000 (TeheT)
(iv) el afa (Tha) % 1,00,000
Tt oY v g fopt 1 A e 9

(i) < gHI UE L&A i 4 gH T 15,000
(i) W Sftem sfim Frm S (R s = ®wIR) T 12,000

femfor 2q =t i fepwa
(iii) r=rar gt wiesy iy o e Z 50,000

(iv) 1-4-2012 % 999Tq 3194 SR I & % 2,00,000 < S8 i Sfaa sfimr qiferet w
sfifirem % 25,000

(v) THUTFHST 3ThTA T8d SIY H ¢H T 10,000

g 80 Et o IF=Td T ol Sfia s aur wigsy ffyr snfe w & S areft o i

Tifar &Y o HITT qer g 80 St % teata fafve gFil @ S areft welfast 6t ufi

1 M1 HIT |

For the Assessment Year 2016-17, X’s income consisted of the following :

(1)  Business profits % 5,50,000

(i1) Capital gains in respect of short-term capital assets I 13,000

(i11)) Dividends from Indian companies % 9,000 (gross)

(iv) Winning from lottery (gross) < 1,00,000

Payments made by X during the previous year were as follows :

(i) Donations to National Defence Fund by cheque T 15,000

(i) Instalment of house construction loan from LIC of India (which is self-occupied)
3 12,000

(ii1)) Contribution to recognized P.F. ¥ 50,000

(iv) Premium on the life policy of his major son taken after 1-4-2012 amounted to
% 25,000, sum assured T 2,00,000

(v) Donations to Prime Minister’s Drought Relief Fund I 10,000

Calculate the amount of deductions allowed to X u/s 80 C for LIC, PF etc. and u/s 80
G for various donations.
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25.
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fafma¥ 2016-17 H fuaE N AT 2 -

(i) TSR A

(i) TTehIet Gofir ey

(iii)  Srefeptefia defima oy

(iv) WA HEaET & AT (Hehet)

(v) I Sia (Fhd)

9 2015-16 H 918 gRT YA =1 R 9 -

() wrEte wiesy Fify o s

(i) YT STEet SR IR oh
Faferean sfiwn < foTw <6 g A

(iii) Tezam sty & fafra ==

(iv) JaHE= TR TEd I8 § JPae

TTE h T AR 3T hi AT T |

% 5,50,000
3 13,000

3 23,000
39,000

< 1,00,000

330,000

322,000

316,000
% 5,000

For the assessment year 2016-17, Y’s income is given below :

(1)  Business profits

(i)  Short-term capital gain

(ii1)) Long term capital gains

(iv) Dividend from Indian companies (gross)
(v)  Winning from lotteries (gross)

% 5,50,000
3 13,000
3 23,000
3 9,000
% 1,00,000

Payments made by ‘Y’ during the year 2015-2016 were as follows :

(i) Deposit in PPF ¥ 30,000

(1) Medical insurance paid by cheque to G.I.C. of India ¥ 22,000
(i11)) Expenses X 16,000 on medical treatment of disabled dependent

(iv) Paid X 5,000 in P.M. National Relief Fund
Compute taxable income of Y.

et ad 2016-17 % forw “sm” 3 fe foawor weqa fopw | Seht o6t I et <6t TTorn

CAI

(i) M FEafd & ST (AT Y TTE)
(i)  rerehTena defird @y

(iii) HET Y& T Al T S (Tehed)
(iv) St sftar siftem 1 grae

(v) STSit 8 A=

(vi) TETE % fEfaa 5

3,18,000
40,000
50,000

5,000
14,000
65,000

A A4 AN AN YA
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The following particulars are submitted by R for the assessment year 2016-17.
Calculate his tax liability.

3
(1) Income from house property (computed) 3,18,000
(i1)) Long-term capital gains 40,000
(i11)) Lottery winning from M.P. State (gross) 50,000
(iv) Life insurance premium paid 5,000
(v) Income from betting 14,000
(vi) Notified bonds of NABARD 65,000

Ife T 9 61 & 12% &, a1 =1 T & L A forshi qem st garan <ht o hife -

() wH EH F forg i fosh s & sr=ia fosht @fga av 2015-16 & Fo foshi
% 16,62,600

(i) 17-1-2016 I T shal 7 17-8-2015 I 3° T 1,66,260 ! < §C 91 H &
% 33,252 (& v & gfga) =@ret i arfud fopa |

(iii) TS T Teh 31T shal T 24,990 o HTA o for wref “ft” 78 < um |

From the following information, compute the taxable turnover and tax liability when

the State VAT rate is 12% :

(1)  Total sales value including CST applicable against Form C is ¥ 16,62,600 for the
year 2015-16.

(i1)) A buyer of goods to whom goods worth ¥ 1,66,260 were sold on 17-8-2015
returned goods worth ¥ 33,252 (inclusive of CST) on 17-1-2016.

(ii1)) Another buyer of goods could not provide ‘C’ Form for goods worth ¥ 24,990.




